
TECHNICKÉ INFORMÁCIE │CLIMA RAIN 

L = maximálna šírka 

A = výška pod odtokom 

S = maximálny výsuv 

 

X = 10 cm 

Z = 23 cm 

Y = 25 cm 

 

H1 = A + Z 

H2 = H TOT - H1  

H TOT = H2 + H1 

H2 = minimálna výška (210 cm) 

H TOT = celková výška 

 

 

 

 

S (cm) A Z X Y H1 

250 22,2 23,0 10,0 25,0 45,2 

300 24,8 23,0 10,0 25,0 47,8 

350 27,5 23,0 10,0 25,0 50,5 

400 30,0 23,0 10,0 25,0 53,0 

450 32,7 23,0 10,0 25,0 55,7 

500 35,3 23,0 10,0 25,0 58,3 

550 37,9 23,0 10,0 25,0 60,9 

600 40,5 23,0 10,0 25,0 63,5 

650 43,2 23,0 10,0 25,0 66,2 

700 45,8 23,0 10,0 25,0 68,8 


